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04 SIZ2ISHAAISH E X 15,000 15,000 0
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Orsgy HAa 22 AFEHI XIS 100,000 100,000 0
307 2Iz2t0| & 100,000 100,000 0
02 DIZHEAAIE E X 100,000 100,000 0
O%sy A2 AFgdl X
100,000, 000& = 14! 100,000




< — |- | |o < ® (o
[aN) Al Al o o [ep) — —
2 RS BRCHN B ~ @
|8 AR = ==
Ko | = Tlalal« <
El
E=]
[e0) [aV) [aV) <t o < [e0) [e0)
99) — | =[x |3 N~ Q|9
© < | |o |S o © | ©
o adla o |lo N o | o
© © — o (o < N
WH3r | SN T B
RS
[eN) 0N T ™M — — () o o o () o o o o o o o o o o o o o — — Lo [ep] — [ o o o o ()
© OO N < D D <t o o o <t < o [e\] o o o [ Y] o o o o (@) N~ N~ N~ [<e] [ep) — o o o o (<o)
O W o|S S |0 |8 & & & o <O ~ N o 2 S Y S ¥ S|og|on - 3§ - S SN~
™ M Al M~ o o < o o o < (e)] o N~ o o — [aV) [aV] (a\] [aV) o o < — o] N Y] o (o6} N~ )
0 F M O QO 6] [Ye) ™ [ep] ™ (V) — (e)) ()] Ye) (V] — [aN] [aV] —
N QTS |e | o ® |6 o A
3l © O |l o | » — |~
<
=
S UH=
r WA @MW W T TFTOT Gl xr W oW W oW oW oW oW oW
— [aV] N [qV] [aV] [aV] — — — o0} — N [aN] [aN I N] [aV] (V] N [aN]
s mL Wy % A% % &5 &5 2 3 = TS E Y YT Y%
or % A ka4 Ad R4 B FOF R o € 2 o o o o al
0 S nNE R UE <X 00X 8 38 8 o S 3 g R
) S kIR 20 P UL AR o S S = S W YW W W W
: = W oW W W W gD B8 X = ~S o a8 8 88 8
. < HE 4% & A8 48 .:r: = S N 507%%00000
31 > M?W MI.W WMI.W Mﬁm 0o < 20 — a %0,0,0,0,0,
vl 0 o ) o o o o - S S & © 8 Q22X
=< ~S ~d ~9 ~9S —~9S ) 57 WS e e
o+ TR S WHT HT = = = o ol -~
= 3r 3r 3r ar = o U © <
< R R R R K R0 ) — <0 o o
. 20 20 20 20 Wo wy i M H ] )
—~ — ©
= roW W R o u| W9
ol < < O U R w X2 5 <+
e . woow w W RK L 0H o Ao oo
1 Wlg g =] 0 0 0 o0 & 0 T o | fo | - 1l <k A<k
ww % | 30 ) 0 1 T 7 30 W s W o3| 20 | i ) FoHr
s oAq O | A O A El El A T il 3N =G I i T ~ 0y LIS
) I X0 o) | O Ho A A A A A ~ A < A D[4 A A A A
R |z or |or |on |= Mo O O 3l | =
. ] Wl == N — | o
— o o («) o —
X Ol =K | ®
* =3 0H | &
= pd




2N
X ZH -
L= B

el

(BA) - N2EAY - BES

O O
AR P "B VAR VAR VAR VAR V4

S

O O

O

O
AVARR VAR VAR VAR VAR VAR VAR < VAR VAR VAR e
[
Jooom
e

010

=z K
Y M H

>
==

H
o

r

N
e

M 02 0 R 09 H oA
wow oy o o
= 4 do 4> I
oy 02

Jo
o

Iz Ko
o Iz
H O =

>
=

H
o
e

0z
S

I_

W
o
R 0

o VvV VvV VYV VYV V VYV V
J
=
FHl

moeoo
oW W oo
o

11

o
(v

(US]
S|
o

o ooy 0z
89 oo
tob JooH

o
U

o
U

o

om
rx

x
(TR

—

Ut

J
T

o

oo

[USTI

oy oQ

4
o

=

fon
M
o
2
|

12
H

Hol
0z

m
rx
P 4 H

Jul
rx

e
ton
=

12

R 2
JT Ko

=]
i

=

H
o

o
Jt
0z

—

1
HT

MO
oo
il

fu o Hu

HL MO
0o g
a1l

s
1]

oy oy

moox

i

0z 0x M
e

e
02

0>

al

> 12

e
02

i

=

Ot

02

321,469,000& *1.5/100
321,469,000 1.1/100
321,469,000 *3.035/100
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SN ASHSD
M. ANOIME2Y3E
Sel: MRS S CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
>AIOIABHS &) 300, 000& *501 x23] 3,000
>y st 200,000& 21021 %23] 8,400
> EFOI = 150, 000& * 15021 x23| 4,500
(@S- Fa 18,500
DHEE=E 1,500, 000& *x2H 3,000
>R 1,000,000& x10== 10,000
>HIEOHE 500, 000& =24 1,000
>ESH 150, 000& *5Q1 %23 1,500
DR (SEIR) 200,000 2L x53] 2,000
>HE 200,000& 50! 1,000
Osdds EZ8EH 7Y 7,095
>2elBE 200,000& *501 x23| 2,000
>OIE 100,000& *4 & %23| 800
Dol =010 150, 000& *5JH 23] 1,500
>OrRA OA 15,0003 * 1504 *33| 675
DYAESH 20,000& x5CH 23] 200
> = 8,000& 20 ~12& 1,920
Oads EEEH 7Y 4,460
et AE 150, 000& *5J4 750
>EEH 50, 000& *3H 150
DOHHZAE 300, 000& =34 900
>aE=E 40,000& *5H 200
DI HFE 80,000& =24 160
>olE 350, 000& *4 4 1,400
>AEIE =™ 300, 000& =34 900
OLgE gaZ3 6,000,000& 501 30,000
307 212t0| & 829,880 829,880 0
02 DIZtBAAMEE X 568,880 568,880 0
OdZME 243 XN 220,000,000& * 14 220,000
ONEMEXNZX 29 348,880,000 * 14 348,880
03 AAHNNEE2IHES 261,000 261,000 0
ONRISEMNEE 29 261,000,000& * 14 261,000
308 AXISHXMSOoIHA 804,600 816,800 A 12,200
08 WEII2MHstE = 804,600 816,800 A 12,200
Ox- -3t N=24d3 XN
65,000, 0003 *14] 65,000
Ox -8 AN X XA
174,000, 0003 *14] 174,000
02016 dJA2EM=US HA
565,600,000 * 14 565,600
Hb51g 2SS & 300,000 250,000 50,000
307 212t01 & 300,000 250,000 50,000




AN AZHSD
M AN MsEdst
oelr HEHSSY CER-ED
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 300,000 250,000 50,000
OHM51sl 22 E2M=EUHs &S
300,000,000 =14l 300,000
=S4 1,516,325 1,488,226 28,099
Jl| 243,595
< 32,124
Al 1,240,606
LASHESEA Mz & 2N 21,400 21,400 0
201 £B-2dH| 1,000 1,000 0
01 At 22/l 1,000 1,000 0
O1 g2t 1,000
P2AS MU S3A 2 M
50,000& »20¢2! 1,000
202 oddl 16,800 16,800 0
01 = LH o4 HI 16,800 16,800 0
OXM=dA 2= 1,400,000& 128 16,800
301 et a3z 3,600 3,600 0
09 AL HIZB &S 3,600 3,600 0
OMENESXZX W0
50,000 12021 *3 23| 3,600
ZRASXAD e S 55,000 55,000 0
307 21201 A 55,000 55,000 0
04 QIZFHALAIE B = 55,000 55,000 0
OZJZXAIIUE S 55,000,000& =14 55,000
PEAMEI(H) SSEUHI Nzl 120,000 120,000 0
307 21201 A 120,000 120,000 0
04 DIZFHALALSE E X 120,000 120,000 0
02016 F=AIZII(HH) SsL U A
120,000, 000& * 14 120,000
2016 A=Al 2 ALE M3 WA 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 QIZFHALAIH B = 20,000 20,000 0
02016 Al 2 A XSS Nzl
20,000,000& =14 20,000
2016 DwAHE XSS H= 220,000 220,000 0
307 glz2+ol & 220,000 220,000 0
04 QIZFHALAIH B = 220,000 220,000 0
02016 DA =2 =
220,000,000 =14 220,000
Hi1el X2 d=HEUEHUHI N 35,000 35,000 0
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ool MERSSY CER-ED
- _ _ RE]

SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
307 2Iz2to| & 35,000 35,000 0
04 SIZ2ISHAAIH E & 35,000 35,000 0

OHM11e FX2d =2HECIEHUHS M=
35,000,000& = 14! 35,000

123 F A& A=2HLAS HE 35,000 35,000 0
307 212t0| & 35,000 35,000 0
04 SIZ2ISHAAISHE E X 35,000 35,000 0

OHM123 F=AIEH &=2HUAUS W=
35,000,000& = 14! 35,000

H1238] /F=AIEE RcHEHZ U HE 15,000 15,000 0
307 2I2t0| ™ 15,000 15,000 0
04 CIZ2tSHALALS B X 15,000 15,000 0

OHM123 FFAEH LG HZZWUSE A
15,000,000 1Al 15,000

M3 RFEXAH =WHEAUE i = 35,000 35,000 0
307 QI2t0| ™ 35,000 35,000 0
04 CIZ2tSHALALS B X 35,000 35,000 0

OHM93l JFXu 2WHEZEAUS A
35,000,000 x 1Al 35,000

H73 A=A 2SS A 10,000 10,000 0
307 2iztol A 10,000 10,000 0
04 QIZ2tSHALALS B = 10,000 10,000 0

OHM73 FAEH 828U 3 HE
10,000,000 =1 Al 10,000

K148 =X 0ttEW S JH A 35,000 35,000 0
307 2iz2to| A 35,000 35,000 0
04 SIZ2ISHAAIH E & 35,000 35,000 0]

OHM14s =X 0tetEU 3 M=l
35,000,000 = 14! 35,000

K108 20 MEH=S 2= LEEZ2US WA 12,000 12,000 0
307 2Iz2t0| & 12,000 12,000 0
04 QIZFH AL AR 2 & 12,000 12,000 0

OHM103 Z2CIMENE tAS QEERUHS M
= 12,000,000& = 1Al 12,000

M8zl XD M=20t2UHE JHA 25,000 25,000 0
307 212t0| & 25,000 25,000 0
04 CIZ2tSH ALALS B X 25,000 25,000 0

OHMB83l XI2J| M=0F2CHSE K=
25,000,000 14! 25,000
HI83l RFXAASHRH M=Z2=MHE W= 35,000 35,000 0
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 35,000 35,000 0
04 DI2HHALALSE E X 35,000 35,000 0
OHMBsl X428 253U =
35,000,000& » 14! 35,000
M6zl EFAIEH 83202 W 35,000 35,000 0
307 21201 A 35,000 35,000 0
04 DIZHHALALSE E X 35,000 35,000 0
OHNe6sl AFAIEH 822U N
35,000,000& =14 35,000
Hgsl e =20tetEUS = 8,000 5,000 3,000
307 21201 A 8,000 5,000 3,000
04 QIZFHALAIH B = 8,000 5,000 3,000
ORM8al #2a =202 EWS Ml
8,000,000& 14! 8,000
2016 &= XUl M= =310 BHE WS R 30,000 30,000 0
307 21201 A 30,000 30,000 0
04 QIZFHALAIH B = 30,000 30,000 0
02016 &3 XA 8= =50 BHA=U=l H
kS| 30,000,000& » 14l 30,000
2016 = HEZ2=2d AFS0H M 30,000 30,000 0
307 glz2tol & 30,000 30,000 0
04 QIZFHALAIH E = 30,000 30,000 0
02016 = H=Z22E S0 Mzl
30,000,000 =14l 30,000
2016 2 EFC U3 M=l 50,000 50,000 0
307 glz2tol & 50,000 50,000 0
04 DIZHHALALSE E X 50,000 50,000 0
02016 2EFC =03l JH=l
50,000,000& =14l 50,000
2016 S 8UHE RAE=EL2US 8,000 4,000 4,000
307 gl2tol & 8,000 4,000 4,000
04 DIZHHALALSE E X 8,000 4,000 4,000
02016 S82UHE SaE=2UE M
8,000,000& =14 8,000
FFAMOEAHUAGE HEA(HLEHM=sES XF) 2,000 2,000 0
307 21201 A 2,000 2,000 0
04 QIZFHALAIH B & 2,000 2,000 0
OFAl HLHUACHSE K=
2,000,000& 14 2,000
AlEg0] Settig JHE(83HH) 2,000 2,000 0
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307 glz2tol & 2,000 2,000 0
04 QIZHH AL AR 2 & 2,000 2,000 0
O&lAgol SttHal M=l (S3HA)
2,000,000& x14! 2,000
AHUHT S2AE E+ N2 7,000 7,000 0
307 21201 A 7,000 0 7,000
02 It S AHE L 7,000 0 7,000
ORILAT LBAL 24 N
7,000,000& x14 7,000
pr3dHE 28 N 6,000 4,000 2,000
307 21201 A 6,000 4,000 2,000
02 ItFAAHEX 6,000 4,000 2,000
OosgHd 29 & 6,000,000& » 14! 6,000
MOHE Ald R 18,000 18,000 0
401 Al HI K 201 I 18,000 18,000 0
01 Al 18,000 18,000 0
OMME ANE XA 18,000, 000& 14! 18,000
ZASXADI(B) e & A HIIUs &8d X 57,000 57,000 0
307 glz2tol & 57,000 57,000 0
04 QIZFHALAIH E = 57,000 57,000 0
OZJTXIAII(HY) & A& FEIIUE & X
2 57,000,000& =14 57,000
24 HOIE=UE &8 X& 10,000 10,000 0
307 gl2tol & 10,000 10,000 0
04 DIZHHALALSE E X 10,000 10,000 0
OnZ24 AHolE=Us &8 XA
10,000, 000& 14! 10,000
H2ds AU SUH =8 80,000 80,000 0
307 21201 A 80,000 80,000 0
04 DIZFHALALSE E X 80,000 80,000 0
OHN24sl A TCIMEHSUH &=H
80,000,000& =14 80,000
2016 HAEZHSAMEH SIS &2H 15,000 15,000 0
307 21201 A 15,000 15,000 0
04 QIZFHALAIH B = 15,000 15,000 0
02016 ZAEZHEAMEHSUHSE E&
15,000, 000& 14! 15,000
H253 Z2AM0OICtENS &= 5,000 5,000 0
307 21201 A 5,000 5,000 0
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04 DI2HHALALSE E X 5,000 5,000 0
OHM255 LA AHMOIUEUNS &
5,000,000& =14l 5,000
AZX Q|8E ALY 134,160 123,900 10,260
Jl| 93,912
< 20,124
Al 20,124
301 gt d= 134,160 123,900 10,260
Jl| 93,912
< 20,124
Al 20,124
01 MEI2EZE+05l= 134,160 123,900 10,260
OAZXHRHAY 134,160, 0002 14 134,160
J| 93,912
< 20,124
Al 20,124
MEX s LRSI Ui XA 195,264 194,304 960
J| 97,632
Al 97,632
307 glz2+ol & 195,264 194,304 960
J| 97,632
Al 97,632
02 HAFHAANGFEX 195,264 194,304 960
OMEHSKE A BEXIAFSE 195,264,000 14! 195,264
J| 97,632
Al 97,632
MEXE HEAMXS I BIEXI AL 97,632 97,152 480
J| 48,816
Al 48,816
307 21201 A 97,632 97,152 480
J| 48,816
Al 48,816
02 IS AHE L 97,632 97,152 480
onzd dM=sgs XA 97,632,000 » 14! 97,632
J| 48,816
Al 48,816
HEHSE 2HANE 6,470 6,470 0
J| 3,235
Al 3,235
307 glz2tol & 6,470 6,470 0
J| 3,235
Al 3,235
03 BIAHNHE2IHIEE 6,470 6,470 0
OdeN=ss 2L 6,470,000% 14! 6,470
J| 3,235
Al 3,235
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M AQHSEAS
ool MERSSY CER-ED
- _ _ RE]
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MY snas 24 24,000 24,000 0
== 12,000
Al 12,000
307 2Iz2t0| A 24,000 24,000 0
= 12,000
Al 12,000
02 QIZHEAAIRE E X 24,000 24,000 0
OME=swna 29 24,000,000 x 1Al 24,000
& 12,000
Al 12,000
MEH s BRI S A B XA 15,507 0 15,507
307 2iztol & 15,507 0 15,507
02 QIZIA AAIE E X 15,507 0 15,507
OHMEHE LBHX TR BIXIAIE A0 2
1,723,000 /2%901 23| 15,507
MEHE HEAMXES X BHXIAFS 6,892 0 6,892
307 2Iz2to| & 6,892 0 6,892
02 QIZHA AAIE E X 6,892 0 6,892
OMEE H2M KNS X BHXIAIY &2
1,723,000 /24021 x23| 6,892
2|e2s g4 105,000 95,000 10,000
K228 FdF==2HMZIIUH3 H= 80,000 70,000 10,000
307 212t0| & 80,000 70,000 10,000
04 SIZ2HSHAMAISHE E X 80,000 70,000 10,000
OHM223 F==2HMZI1U3l M=l
80,000,000& = 14! 80,000
M123] F A2 (HEX 25,000 25,000 0
307 QI2t0| ™ 25,000 25,000 0
04 CIZ2tSHAFALS B X 25,000 25,000 0
OHM123 A=A 2ZD| CHH K
25,000,000 x 14! 25,000
e MEesd 120,000 115,000 5,000
0 HEsE2sid 50,000 50,000 0
307 2iz2to| A 50,000 50,000 0
02 QIZ2IA AAIE E X 50,000 50,000 0
O MEM=E SHXNIF 25,000,000 14! 25,000
OHOMe MeEHs 2435 XA
25,000,000& = 14! 25,000
Hog LT HOe MEHMSUHS =& 40,000 35,000 5,000
307 QI2t0| ™ 40,000 35,000 5,000
04 CIZ2tSHAPALS B X 40,000 35,000 5,000
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OHM93l LT MEMEUHS &AM
40,000,000 =14l 40,000
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OLJEoMEHSUHE Yl MSAIE L2
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Al 1,037,876
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OZ%g AUWAMOE=SE AXALEH
33,000,000& =14 33,000
BHEZSEUW MSAIE &= 261,310 0 261,310
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03 AlE 2 THHI 1,310 0 1,310
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< 100,000
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401 AIEHIZL 20 100,504 0 100,504
< 50,000
Al 50,504
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OSUM=EAE 223 E5 31,892
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OANEL2UbI 1,008, 000& * 14! 1,008
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201 L2l 21,676 24,280 A2,604
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